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Booklet No:
INSTRUCTIONS TO CANDIDATES

Time Allowed: 120 minutes Maximum Marks: 200

ON RECEIPT OF THE TEST BOOKLET PLEASE CHECK THAT THIS QUESTION
BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR
ITEMS, ETC. IF SO, GET IT REPLACED BY A NEW TEST BOOKLET. PLEASE
ENSURE ONCE AGAIN THAT YOU HAVE FILLED ALL COLUMNS REQUIRED TO
BE FILLED IN THE OMR SHEET ON WHICH YOU ARE REQUIRED TO ANSWER
THE QUESTIONS.

1.

This Question Booklet contains Multiple Choice Questions each question having
four options. You have to choose and mark ONLY ONE option as correct or the best
answer. Where more than one response is marked for a question, it will be treated
as wrong answer.

The Question Booklet consists of:

Part-1 - General Intelligence & Reasoning - 50 questions.
Part-1l - General Awareness - 50 questions.

Part-lll - English Language & Comprehension - 100 questions.

Each Question carries 1(0One) mark. There will be 0.25 negative marks deducted for
every wrong answer.

You have to mark all your responses ONLY on the separate OMR Sheet provided.

On Completion of the Exam, you MUST handover the “OMR Sheet and Question
Booklet” to the Invigilator.

In case of any discrepancies between English and Hindi versions, English version
shall prevail.

Failure to follow the instructions invites automatic disqualification from this Exam.
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J-01
PART | GENERAL INTELLIGENCE & REASONING

Ram, Shyam, Mohan, Vasu and Ganapathi are standing in a line facing North.
Ganapathy is standing 40 m left to Shyam. Ram is standing 20 m left to Mohan.
Vasu is standing 20 meters right to Ganapathi and 50 m right to Mohan. What Is the
distance between Ram and Vasu?

a)50 m b) 60 m

c)70 m d) 80 m

Mohan said - "This girl is the wife of the grandson of my mother". How is Mohan
related to the girl?

a) Husband b) Brother

c) Father-In-Law d) Grandfather

Sita, Babli ,Charu ,Dolly ,Vanitha ,Felicity are sitting on the round table with equal
distances facing towards centre of the table. Felicity is sitting opposite to Vanitha
and between Sita and Dolly. Charu is sitting right side of Vanitha and opposite to
Sita. Who are the neighbours of Sita?

a) Babli and Felicity b) Vanitha and Felicity

c) Vanitha and Charu d) Felicity and Dolly

Please indicate which figure will best represent the relationship between Legume
seeds, peas and kidney beans?

' OO
& O
QD 9

Please choose the odd number pair.
a) 24 : 47 b) 16 : 31
c)28: 55 d) 32:65

Six persons are sitting in a circle. 'J' is between 'N' and 'O'"; 'N' is opposite 'M'; and
'L" is not in either of the neighboring seats of 'N'. Who is opposite to 'K'?

a)M b) O

c)J d)L
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In the following questions 7 & 8 you are given a combination of letters/or numbers
followed by four alternatives a), b), c¢) and d). Choose option which closely resembles
the mirror image of the given combination.

7.

8.

TERMINATE

a)  THAMIMATH
b)  ATAVIASAT
o  ATAVIMSAT
d)  ETAMIMSAAT

BR4AQ16HI

a)  IHOIOARAH
b)  IH6IQALAH
o  IHolQARAd
4 TH9IOARME

Three positions of dice are shown below. What will be the number opposite to the
face containing number 37

ug

(i1) (iii)
a)1 b) 6
c) 5 d) 4

10. Four positions of dice are shown below. What number will appear on the opposite

to the face containing number 3?

LR

c) 4 d) 6
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In a certain code, RAGHAVAN is written as GARVAHNA. In the same code, which
word would be written as MATHAVAN?
a)TAMVAHAN b)TAMHAVNA c)TAMVAHNA d)MATVAHNA

If in a coded language the word SCHOOL is written as UAJMQJ then PRINCIPLE
will be written as
a) RTKPEKRCN b) NPGLAGNJB c¢) NPGLAGNJB d) RPKLEGRJG

f7x9=162:5x8=133:4x6=102,then2x5="2
a) 73 b) 77 c) 37 d) 97

What number should come next in the following series?
50, 5, 40, 10, 30,
a) 15 b) 20 c) 25 d) 35

In the series 84, 89, 86, 91, 88, , 90, What number should fill the blank?
a) 83 b) 85 c) 92 d) 93

Complete the following series?
3,5,8,13,21, .......
a) 30 b) 32 c) 34 d) 36

If each letter of the English alphabet is assigned an even numerical value (A=2,
B=4, C=6, and so on), what is the total numerical value of the word "TANGO"?
a) 100 b) 114 c) 120 d) 98

If MARCH = 15, RAIN = 12, and WINTER = 18, then what is the value of
SUMMER?
a) 18 b) 20 c) 21 d) 24

If A stands for ‘=’, M stands for ‘+’, D stands for ‘x’, G stands for ‘<’, and L stands
for >’, which of the following will be logically correct?

a) 8M4D2A3L6D2M5 b) 10A3D4G5M3D2
c) 6D2M8A4G3D2A1 d) 7M3D2G8A2D4
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How many cubes are there in the following figure?

a) 10 b) 16 c) 18 d) 20

Arrange the given words as they are arranged in dictionary.

1. Asia 2. Australia 3. America 4. Afghanistan 5. Africa
a) : b)4,5,3,2,1

C

,3,4,5,1
)4,3,2,1,5 d)4,5,3,1,2

2
4,

= O

If A + B means A is the brother of B; A% B means A is the father of B and A x B
means A is the sister of B. Which of the following means M is the uncle of P?
a)M% N x P b) N x P% M
c)M+S%R dM+K% TxP

If the day after tomorrow is Monday, then what day will it be after 15 days from
today?
a) Thursday b) Friday c) Saturday d) Sunday

Choose the number which is different from the rest?
a) 28 b) 45 c) 72 d) 81

In a row of 10 boys, when Sunny was shifted by 5 places towards the left, he
became the 3rd from the left end. What was his earlier position from the right end
of the row?

a)3 b) 8 c)9 d)5

In 90% of the cricket matches, Sachin scores more runs than Raju. Raju is a left-
handed batsman while Sachin is righthanded. Which one of the following
inferences can be drawn from the previous statements?

a) In some matches right handed batsmen perform better than left handed

batsmen

b) Raju has scored more runs than Sachin in total

c) Sachin and Raju played the same number of cricket matches

d) None of the above
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27. As MOUSE is related to KPSTC so is LIGHT related to
a) MGHFU b) JGEFR c) JUEIR d) MJHIN

28.  If 18t January 2022 was Saturday, what day of the week would be 315t December,
20227
a) Saturday b) Monday c) Sunday d) Friday

29. In the following question, choose a word that cannot be formed from the letters of
the given word.
Correspondence
a) Correspond b) Condone c) Respondent d) Respond

30. If the below alphabet is written in the reverse order, which will be the fifth letter to
the left of the ninth letter from the right?
ABCDEFGHIJKLMNOPQRSTUVWXYZ
(@)P (b) N c) D d) M

31.  Mark the correct option which represents the number of people studying two
subjects.

Mathematics A

AWA <«—Physics
NG

Chemistry
(a) 11 (b) 23 c) 12 d) 40
32. In aline of boys, Rohan is 8th from the left and Bhola is 17th from the right. If they
interchange their positions, Rohan becomes 14th from the left. How many boys are

there in the row?
a) 25 b) 27 c) 28 d) 30
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33. What is the minimum number of colour pencils required to fill the spaces in the
below figure with no two adjacent spaces having the same colour?

a) 3 b) 4 c)5 d) 6

34. If one picks up from the following alphabet, the sixth and the fourteenth letters
from your right and then picks up the fifth and twentieth letters from your left and
form a meaningful word, what is the first letter of that word?

ABCDEFGHIJKLM NOPQRSTUVWXYZ
a) M b) E
c) No word can be formed d) More than one word can be formed

35. When Bonny was going to school on Monday, the hour hand of a clock was
positioned between 9 and 10. The angle between the two hands (hour and minute)

was 145°. What was the time shown by the clock?
a) 9.08 AM b) 9.10 AM c) 9.12 AM d) 9.15 AM

36. Choose the correct number to replace the question mark.
10 15 15

12 15 12 28 11 23
9 20 16

a) 18 b) 12 c) 13 d) 16

37. A cyclist rides 40 kms to the east, turns north and rides 20 kms, again turns left
and rides 20 kms. How far is cyclist from the starting point?
a) 28.38 km b) 28.18 kms c) 28.08 kms d) 28.28 kms
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Five boys A, B, C, D and E each has a different weight. A is heavier than E but
lighter than C. D is heavier than C but lighter than B. Which of the following
represents the boys who are the heaviest and the lightest respectively?
a)Dand A b) B and E c)Band A d)Dand E

In the following question, select the missing number from the table.
13 169 961
15 ? 2601
12 144 441

a) 81 b) 361 c) 289 d) 225

How many triangles are there in the following figure?

a) 20 b) 24 c) 28 d) 32

Which is the smallest Prime Number?
a) O b) 1 c)2 d) 3

A person keeps on his farm 50 ducks, 45 goats and 8 cows. The livestock are
looked after by a few workers. If the total number of feet are 224 more than the
heads, what is the number of workers on the farm?

a)5 b) 8 c)12 d) 15
find the missingterma, b,d, . p
a)g b) h c)j d) k

If64 + 53 =4,86 + 42 =4, then 83 + 72 =7

a)12 b) 10 c) 15 d) 18
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45. Select from the given choices two signs that should be interchanged to make the
following equation correct.
36+12x6+9-6=38
a) —and x b)+andx c)—and+ d) +and +

Directions (Qs. 46-47): In each of the questions below are given some statements
followed by some conclusions. Choose the conclusions which logically follow
from the statements.

46. Statements :
1. All pens are papers
2. All papers are boats
3. Some birds are boats

Conclusions :

A. Some boats are pens

B. Some birds are paper

C. None of the pens are birds

Options :
a) Only Aand B b) Only A
c)Only C d) Only Aand C

47. Statements:
1. All roses are flowers.
2. All flowers are plants.
3. Some plants are trees.

Conclusions:

A. Some plants are roses.
B. Some trees are flowers.
C. All roses are plants.

Options:

a) Only A follows

b) Only B follows

c) Only C follows

d) Both A and C follow
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48. The sequence of folding a piece of square paper and the manner in which the

folded paper has been cut is shown in the figures. How would this paper look
when unfolded?

(a) o
o o
© [° d [& ©
o
o % oc>
49. Which of the following options has the correct water image of the word given
below:
ridge
@ egdir® L1qal
©1L1qde®@ 9pbi
50. Out of the four alternatives (a, b, ¢, d), please choose the correct alternative

which completes the picture.

?

%

(@) (b) () (d)
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PART Il GENERAL AWARENESS

Which of the following kings was known as the "Napoleon of India" for his military
conquests?

a) Ashoka b) Chandragupta Maurya

c) Samudragupta d) Vikramaditya

Who was the last Governor-General of independent India?
a) Lord Mountbatten b) C. Rajagopalachari
c) Rajendra Prasad d) Jawaharlal Nehru

The "Indian National Congress" was founded in 1885 by Allan Octavian Hume.
Where was its first session held?

a) Kolkata b) Mumbai

c) Delhi d) Madras

Which British officer introduced the “Ryotwari System” of land revenue in India?
a) Lord Cornwallis b) Warren Hastings
c) Charles Metcalfe d) Thomas Munro

Who among the following historians is known for the theory of the “Drain of
Wealth” from India during British rule?

a) Dadabhai Naoroji b) R.C. Dutt

c) Gopal Krishna Gokhale d) B.R. Ambedkar

The Opium Wars were fought between China and which country?
a) France b) Japan
c) Britain d) Portugal

Which event is considered the immediate cause of World War-I ?
a) Invasion of Belgium by Germany

b) Assassination of Archduke Franz Ferdinand

c) Sinking of the Lusitania

d) Formation of the Triple Entente

The "Meiji Restoration" in 1868 marked the modernization of which country?

a) China b) Japan
c) Korea d) Vietnam
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Which country was the first to grant women the right to vote in 18937

a) United States b) Switzerland
c) New Zealand d) Finland

The famous rock-cut caves at Ajanta primarily depict scenes from which

religion?
a) Buddhism b) Hinduism
c) Jainism d) Shaivism

Which strait separates the island of Sri Lanka from India?
a) Sunda Strait b) Palk Strait
c) Strait of Malacca d) Bering Strait

The Lakshadweep Islands are made of which type of rock?
a) Igneous b) Sedimentary
c) Coral d) Metamorphic

Which Indian state is the largest producer of mica?

a) Jharkhand b) Andhra Pradesh
c) Rajasthan d) Odisha

Which Indian state is the largest producer of coffee?

a) Kerala b) Karnataka

c) Assam d) Andhra Pradesh
Which organ in the human body produces bile?

a) Stomach b) Pancreas

c) Liver d) Gallbladder

"l have a dream" is a famous speech delivered by which civil rights leader?
a) Rosa Parks b) Malcolm X

¢) Martin Luther King Jr. d) Nelson Mandela

R&AW (Research and Analysis Wing), the spy agency of India is part of which of
the following?

a) Ministry of Defence b) Ministry of Home Affairs

c) Ministry of External Affairs d) Cabinet Secretariat

In the context of Indian defence, ASMI is the name given to:
a) Helicopter Gunship b) Cruise Missile
c) Sniper Rifle d) Sub machine gun
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Jaspal Rana is the name associated with which of the following games.
a) Weightlifting b) Archery
c) Boxing d) Shooting

The book Life of Pi was written by:
a) Vikram Seth b) Salman Rushdie
c) Yann Martel d) Arundhati Roy

Magsaysay Award is given after Ramon Magsaysay. He was the President of
which nation?

a) Myanmar b) Malaysia

c) Philippines d) Sweden

Which allotrope of carbon is used as a lubricant?
a) Diamond b) Graphite
c) Fullerene d) Carbon nanotube

Which of the following diseases is caused by a Virus?
a) Tuberculosis b) Measles
c) Typhoid d) Malaria

What is the primary function of a capacitor in electronic circuits?
a) To amplify signals b) To store electric charge
c) To convert AC to DC d) To step up voltage

Which of the following is not a vector quantity?
a) Acceleration b) Force
c) Velocity d) Electric current

What happens to the resistance of a conductor as its temperature increases?
a) Increases b) Decreases
c) Remains constant d) First increases, then decreases

The BrahMos missile was jointly developed by?
a) India and Russia

b) India and China

c) India and UK

d) India and USA

Page 12 of 29



78.

79.

80.

81.

82.

83.

84.

J-01
Which of the following waves require a medium to propagate?
a) Electromagnetic waves b) Sound waves
c) Light waves d) Radio waves

What causes a mirage on a hot day?

a) Reflection of light off the water vapor in the air

b) Reflection of light from the ground

c) Refraction of light due to temperature gradients in the air
d) Absorption of light by heated surfaces

Which of the following is the most common type of chemical bond in organic
molecules?

a) lonic bond b) Covalent bond

c) Metallic bond d) Hydrogen bond
Who is the current president of world bank?

a) Eugene Meyer b) David Malpass
c) Ajay Banga d) Jim Yong Kim

Where is Greenland located?
a) South Pacific Ocean b) North Indian Ocean
c) Red Sea d) North Atlantic Ocean

Purple Revolution in India is related to which of the following?
a) Saffron b) Coffee
c) Lavender d) Turmeric

Match correctly the following, deserts and their location by choosing the correct
response:

Desert Location
a) Kalahari 1. South America
b) Atacama 2. Australia
c) Thar 3. Africa
d) Great Victoria 4. Asia
a) a-3, b-1, c-4, d-2 b) a-2, b-3, c-1, d-4
c) a-4, b-3, ¢c-2, d-1 d) a-3, b-2, c-1, d-4
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The novel A Suitable Boy, a saga set in post-independence India, was written

by:
a) Kiran Desai b) Arundhati Roy
c) Vikram Seth d) R.K. Narayan

Which of the following is NOT a type of malware?
a) Ransomware b) Adware
c) Firmware d) Spyware

In the context of cybersecurity, what does the term "phishing" mean?
a) Hacking into servers

b) Sending fraudulent messages to steal sensitive information

c) Installing malicious software

d) Guessing passwords using brute force

What does the acronym "BIOS" stand for?
a) Binary Input Output System b) Basic Integrated Operating System
c) Built-in Operating Software d) Basic Input Output System

Which sector contributes the largest share to India's GDP?
a) Agriculture b) Industry
c) Services d) Manufacturing

What is the name of the economic theory advocating minimal government
intervention in markets?

a) Keynesian Economics b) Laissez-faire

c) Protectionism d) Monetarism

Match List-l with List-Il and select the correct answer using the code given below
the lists.

List-l List-Il
a) Sarvavarma 1. Mitakshara
b) Shudraka 2. Rajatarangini
c) Vijnaneshwara 3. Mrichchhakatikam
d) Kalhana 4. Katantra
Code:

a) b) c) d)
a) 3 4 2 1
by 4 3 1 2
c) 2 1 4 3
d 4 2 1 3
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How many times has a Financial Emergency under Article 360 of the Indian
Constitution been declared in India?

a) once b) twice
C) never d) four times

Which star is the nearest to the Sun?
a) Proxima Centauri b) Alpha Centauri A
c) Sirius d) Betelgeuse

Which of the following is the largest natural satellite in the solar system?
a) Ganymede b) Titan
c) Callisto d) Moon

Which one of the following is not correctly matched?
a) Radcliffe line - India and Pakistan

b) Maginot line - France and Germany

c) Durand line - Bangladesh and India

d) Hindenburg line - Belgium and Germany

Match List-l with List-1l and select the correct answer using the code given below
the lists.

List-1 (City) List-1I (River)
a) Amritsar 1. Narmada
b) Ujjain 2. Godavari
c) Nashik 3. Beas
d) Jabalpur 4. Shipra
Code
A B C D
a) 3 1 4 2
b) 2 4 1 3
C) 3 4 2 1
d) 4 3 2 1
The Marine National Park is located :
a) Gulf of Kutch b) Sunderban
c) Chilka Lake d) None of the above
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The National Sports day is celebrated across the country to mark the birthday of

a) Milkha Singh b) Major Dhyan Chand
c) Sachin Tendulkar d) Kapil Dev

Under whose captaincy did India win the first edition of the ICC Women's Under-
19 Cricket World Cup?

a) Shafali Verma b) Smriti Mandhana

c) Harmanpreet Kaur d) Mithali Raj

Which Indian film has been selected as India’s official entry for the Best
International Feature Film category at the Oscars 20257

a) Lapata Ladies b) 2018

c) The Kerala Story d) The Lunchbox

PART Ill ENGLISH LANGUAGE & COMPREHENSION

Directions (Qs. 101 - 110): In the following questions, out of the four alternatives,
choose the one that best expresses the meaning of the given word.

101. Abstruse
a) Obvious

102. Esoteric
a) Common

103. Perfunctory
a) Casual

104. Cacophony
a) Harmony

105.Bellicose
a) Peaceful

106. Obfuscate
a) Clarify

107. Erudite
a) Ignorant

b) Clear c) Complex

b) Mysterious c) Familiar

b) Meticulous c¢) Enthusiastic
b) Silence c) Melody

b) Aggressive c) Passive

b) Simplify c) Confuse

b) Scholarly c) Uninformed
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108. Acerbic
a) Bitter b) Sweet c) Friendly d) Warm

109. Recalcitrant
a) Obedient b) Defiant c) Cooperative d) Submissive

110.Umbrage
a) Delight b) Gratitude c) Offense d) Respect

Directions (Qs. 111 — 120): In the following questions, choose the word opposite
in meaning to the given word.

111. Sagacious
a) Wise b) Foolish c) Intelligent d) Insightful

112. Obdurate
a) Flexible b) Stubborn c¢) Rigid d) Adamant

113. Pernicious
a) Harmful b) Dangerous c) Beneficial d) Fatal

114. Laconic
a) Brief b) Concise c) Talkative d) Terse

115. Spurious
a) False b) Genuine c) Counterfeit d) Deceptive

116. Intransigent
a) Stubborn b) Obstinate c)Uncompromising d) Yielding

117. Quiescent

a) Active b) Dormant c) Passive d) Static
118. Puerile
a) Childish b) Sophisticated c) Immature d) Naive

119. Phlegmatic
a) Calm b) Passionate c) Composed d) Indifferent

120. Mercurial
a) Stable b) Unpredictable c) Temperamental d) Erratic
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Directions (Qs. 121-130): Read the following passage to answer the given
questions based on it.

The advent of artificial intelligence (Al) has sparked an unprecedented transformation
across industries, challenging long-held paradigms and redefining human capabilities.
While optimists celebrate Al as a panacea for inefficiencies, skeptics caution against
over-reliance on machines devoid of moral compasses. The dichotomy extends to labor
markets, where automation simultaneously renders certain roles obsolete while
engendering demand for advanced technological expertise. This duality necessitates a
recalibration of educational frameworks to emphasize adaptability and critical thinking
over rote learning.

Paradoxically, while Al facilitates problem-solving, it also engenders new ethical
quandaries. For instance, the deployment of autonomous weapons systems raises
questions about accountability in warfare. Similarly, the use of predictive algorithms in
judicial systems, though efficient, risks perpetuating systemic biases under the guise of
neutrality. This underscores the imperative for human oversight, not merely as a
safeguard but as an active participant in ethical deliberations.

Furthermore, the integration of Al in healthcare has revolutionized diagnostics, yet its
application is not without pitfalls. Machines lack the empathetic nuance essential in
patient care, making human practitioners indispensable. Thus, the trajectory of Al's
evolution is not a binary choice between adoption and rejection but a nuanced
negotiation of coexistence. The challenge lies not merely in technological development
but in crafting a societal ethos that harmonizes innovation with humanity's core values.

121. What is the central theme of the passage?
a) The ethical dilemmas posed by Al.
b) The impact of Al on human labour.
c) The need for a balanced integration of Al into society.
d) The challenges of technological innovation.

122. The phrase "long-held paradigms" most likely refers to:
a) Established beliefs and systems.
b) Newly emerging trends.
c) Scientific advancements.
d) Ethical frameworks.

123. According to the passage, the duality in labour markets necessitates:

a) Increased automation in industries.
b) A shift in educational priorities.
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c) The elimination of rote learning.
d) Greater reliance on technological expertise.

Why does the author highlight the use of predictive algorithms in judicial systems?
a) To demonstrate Al's efficiency.

b) To argue for automation in law.

c) To critique Al's potential biases.

d) To advocate for judicial reform.

The author uses the word "panacea" to suggest that Al is:
a) A miraculous solution. b) A cause of inefficiency.
c) A dubious tool. d) A divisive technology.

What is implied by "machines devoid of moral compasses"?

a) Machines lack the ability to make unbiased decisions.

b) Machines cannot independently navigate complex situations.
c) Machines operate without ethical judgment.

d) Machines are designed to function autonomously.

According to the passage, Al’s evolution is a choice between:
a) Innovation and tradition.

b) Technological adoption and societal rejection.

c) Complete integration and nuanced coexistence.

d) Efficiency and ethics.

The word "engenders" in the passage is closest in meaning to:
a) Resolves b) Avoids
c) Produces d) Mitigates

What does the passage imply about human oversight in Al systems?
a) It is necessary to correct technical errors.

b) It ensures ethical decision-making.

c) It eliminates bias in algorithms.

d) It increases efficiency in applications.

What does the author suggest is the role of humanity in the trajectory of Al?
a) To fully automate processes.

b) To safeguard against innovation.

c) To harmonize technology with values.

d) To prioritize technological advancement.
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Directions (Qs. 131- 140) In the following questions sentences are given with
blanks to be filled in with an appropriate word(s). Four alternatives are suggested
for each question. Choose the most suitable option out of the four.

131.

132.

133.

134.

135.

136.

137.

138.

The manager insisted that the report by Friday without fail.
a) is submitted b) be submitted
c) was submitted d) has been submitte
Hardly the train left the station when the passengers realized there
was an announcement.
a) had b) has
c) was d) have
It's high time that he responsibility for his actions.
a) takes b) took
c) has taken d) should take
Despite several warnings, he did not from his irresponsible behaviour.
a) refrain b) abstain
c) prevent d) constrain

The Union Budget is likely to be presented on February 26, two days ahead of
the date.

a) critical b) conventional
c) suitable d) convenient
If | you, | would accept the offer without hesitation.
a)am b) were
c) had been d) was
Were it not for his timely intervention, the situation out of control.
a) would spiral b) might have spiralled
c) will spiral d) could spiral
| prefer tea coffee in the mornings.
a) than b) over
c) to d) instead
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139. His bungalow went through a make .
a) up b) out

C) over d) for

140. The car we were travelling in a mile from home.
a) broke off b) broke down
c) broke into d) broke up

Directions (Qs. 141- 150) In the following questions, four alternatives are given for
the meaning of the given Idiom/Phrase. Choose the alternative that best expresses
the meaning of the Idiom/Phrase.

141. Break the ice:
a) To end a difficult conversation
b) To make a start at something difficult
c) To initiate a conversation and ease tension
d) To solve a problem

142. Let the cat out of the bag:
a) To release an animal b) To reveal a secret or surprise
c) To escape from trouble d) To make a big mistake

143. To throw in the towel:
a) To surrender or give up b) To clean up
c) To start something new d) To speak clearly

144. To steal someone's thunder:
a) To take credit for someone else's idea
b) To be extremely angry
c) To interrupt someone
d) To praise someone else

145. To have an axe to grind:
a) To have a personal grievance or issue
b) To seek approval from others
c) To be well-prepared
d) To focus on doing work
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146. To cry wolf:
a) To deceive someone
b) To ask for help
c) To cry for no reason
d) To warn about a danger that doesn't exist

147. To burn one's bridges:
a) To destroy one's path or options b) To apologize for a mistake
c) To seek revenge d) To change one’s opinions

148. To hit the nail on the head:
a) To make a mistake
b) To describe exactly what is causing a situation
c) To act impulsively
d) To be distracted

149. To burn the candle at both ends:
a) To overwork or exhaust oneself b) To start something new
c) To be overly cautious d) To make a lasting impression

150. To be a fly on the wall:
a) To contribute to a conversation b) To be very attentive
c) To observe something secretly d) To be out of place

Directions : (151-160) In the following questions, out of the four alternatives
choose the one that can be substituted for the given words/phrase:

151. An assembly of worshipers.
a) Configuration b) Confrontation  c) Congregation d) Conflagration

152. One who can be easily duped or fooled by any swindler
a) smart b) gullible c) astute d) perceptive

153. An office or position with little or no work but providing a good salary is called
a
a) haven b) sinecure c) sanctuary d) niche

154. A collection of musical works or compositions by a particular composer is
known as a:
a) Catalogue b) Anthology c) Repertoire d) Compilation
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155. A group of words used to express a particular thought or idea, often

figurative in meaning, is known as:

a) Aphorism b) Proverb c) Idiom d) Maxim
156. To formally renounce or reject a belief or claim is to

a) abdicate b) recant c) forfeit d) cede
157. A person who is excessively fond of eating is called a:

a) Gourmet b) Glutton c) bibulous d) Epicure
158. A person who is interested in or collects stamps is called a:

a) Numismatist b) Collector c) Archivist d) Philatelist
159. A person who has an excessive concern with their appearance is

called a:

a) Narcissist b) Egotist c) Vanity-monger d) Exhibitionist
160. A person who habitually lends money at high interest rates is called a:

a) Usurer b) Lender c) Banker d) Creditor
Directions : (161-170) In the following questions a set of four words are given

marked a) to d). In each set a word has been spelt in four different ways, one of
which is correct. Choose the correctly spelt word:

161. a) accomodate b) acommodate c¢) accommodate d) acomodate
162. a) Pronounciation b) Prounciation  c¢) Pronunciation d) Pronaunciation
163. a) occurence b) occurance C) occurrence d) ocurrence

164. a) comittee b) commitee c) commeeti d) committee
165. a) professer b) proffessor c) profesor d) professor

166. a) Indispensible  b) Indispensable c) Indispencible d) Indispensabl
167. a) Privilege b) Privilage c) Priviledge d) Privilidge

168. a) Necessarily b) Necesarily c) Necesserily d) Necessarly
169. a) Conoisseur b) Connoiser c) Connoisseur d) Connoseur
170. a) Acquaintance b) Aquaintance c) Aquaintence  d) Acquaintence
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Select the sentence that is grammatically correct.
a) The police is investigating the matter thoroughly.
b) The police are investigating the matter thoroughly.
c) The police has investigated the matter thoroughly.
d) The police was investigating the matter thoroughly.

Select the sentence that is grammatically correct.
a) If | was you, | would not visit that place.

b) If | were you, | would not visit that place.

c) If  am you, | would not visit that place.

d) If | was you, | will not visit that place.

Select the grammatically correct sentence.

a) If he would have practiced more, he would have won the competition.
b) If he practiced more, he would have won the competition.

c) If he had practiced more, he would have won the competition.

d) If he would practice more, he would have won the competition.

Select the sentence that is grammatically correct.

a) Scarcely had the bell rang when the students left the classroom.
b) Scarcely had the bell rung when the students left the classroom.
c) Scarcely did the bell rang when the students left the classroom.

d) Scarcely has the bell rung when the students left the classroom.

Select the sentence that is grammatically correct.

a) The criteria for selecting the candidates was not clear.

b) The criteria for selecting the candidates has not been clear .
c) The criterias for selecting the candidates were not clear.

d) The criteria for selecting the candidates were not clear.

Select the sentence that is grammatically correct.
a) | am looking forward to meet you.

b) | am looking forward meeting you.

c) I am looking forward to meeting you.

d) I am looking forward for meeting you.

Select the grammatically correct sentence.

a) If he would have known about the issue, he would have acted differently.
b) If he would know about the issue, he would have acted differently.

c) If he had known about the issue, he would have acted differently.

d) If he knows about the issue, he would have acted differently.
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178. Select the grammatically correct sentence.
a) She insisted on that he leave immediately.
b) She insisted that he leaves immediately.
c) She insisted on him leaving immediately.
d) She insisted that he leave immediately.

179. Select the grammatically correct sentence.
a) Each of the answers were correct.
b) Each of the answers are correct.
c) Each of the answers is correct.
d) Each of the answer is correct.

180. Select the grammatically correct sentence.
a) This is boys hostel.
b) This is boys' hostel.
c) This is boy's hostel.
d) This is boy hostel.

Directions (Qs. 181-185) : In the following questions, a sentence has been given
in Active / Passive Voice. Out of the four alternatives suggested, select the one
which best expresses the same sentence in Passive /Active.

181. What one must do, one must do properly.
a)What must be done, must be done properly.
b) It must be done properly what one must do.
c)lt must be done what one must do properly.
d)One must do properly what has to be done.

182. Did she complete the task on time?
a) Was the task being completed by her on time?
b) Is the task completed by her on time?
c) Has the task been completed by her on time?
d) Was the task completed by her on time?

183. The guests are expected to arrive by noon.
a) It is expected that the guests arrive by noon.
b) The guests should arrive by noon.
c) We expect the guests to arrive by noon.
d) The guests are arriving by noon.
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Let the letter not be written in haste.
a) You should not write the letter in haste.
b) Write the letter carefully.
c) Do not write the letter in haste.
d) Avoid writing the letter in haste.

He might have answered the questions if he had known.

a) The questions might have been answered by him if he had known.
b) The questions might be answered by him if he had known.

c) The questions may have been answered by him if he had known.
d) The questions could have been answered by him if he had known.

What does the phrasal verb "get across" mean?
a) To be understood b) To move from one place to another
c) To change direction d) To confuse

Choose the correct meaning of the phrasal verb "bring about."
a) To discuss a topic b) To cause something to happen

c) To cancel something d) To end something

Choose the correct meaning of the phrasal verb "get by."

a) To pass someone on the way b) To avoid something
c) To be able to do something d) To get ahead of someone
with difficulty

Identify the error in the following sentence:

"He suggested to me that | should not go to the party, because it was late."
a) suggested to me b) that | should not go

c) the party d) it was late

Identify the error in the following sentence:
"The team has worked hard to achieve their goals, and they are proud of
themselves."

a) The team b) has worked

c) to achieve d) their goals

Directions (Qs.191 to 193): In the following questions choose the best alternative
to replace the underlined part.
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After the win, the captain treated the team with a sumptuous meal.

a) treated the team to b) treated the team for
c) treated the team by d) No improvement

She was always with daggers drawn with her colleagues over trivial matters.
a)in b) on
c) at d) No improvement

He said that he would meet me tomorrow if it wouldn'’t rain.
a) if it didn’t rain b) if it would rain
c) if it is not raining d) No improvement

Select the correct collective noun for a group of owls.
a) a murder b) a parliament
c) a gaggle d) a troop

What is the collective noun for a group of monkeys.
a) A troop b) A business
c) A congress d) A leap

What is the plural form of crisis?
a) Crises b) Crisis
c) Crisises d) Crisii

What is the correct plural of alumnus?
a) Alumni b) Alumnuses
c) Alumnae d) Alumnis

What is the feminine form of "duke"?
a) Dukess b) Duchess
c) Ducess d) Dukette

What is the feminine form of "bachelor"?
a) Bachelorette b) Bacheloress
c) Bachelora d) Bacheloretta

What is the feminine form of "knight"?

a) Dame b) Knightess
c) Knightress d) Damsel
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